
FPMA-CF200SILVER
 

WWW.NEOMOUNTS.COM

INSTRUCTION MANUAL

IT

EN 

NL 

DE 

FR 

 

ES 

PT 

DK 

Ceiling-to-floor mount

Plafond-vloersteun

Decken-Boden-Halterung

Support plafond-sol

Supporto da soffitto a pavimento

Soporte de techo a suelo

Suporte do chão ao teto

Gulv til loftmontering

 

NO Tak til gulv feste

SE 

FI 

PL 

CS
 

SK
 

RO

 

Golv till takmontering

Katosta lattiaan teline

Uchwyt z mocowaniem 

sufit-podłoga

Držák monitoru - strop a podlaha

Držiak na montáž od podlahy po 

strop

Suport din tavan până în podea

Ø139mm
m

ax
27

00
m

m

625mm
min75mm-max600mm

60m
m

250mm

360mm

m
in

21
00

m
m

-m
ax

27
00

m
m

87
0m

m

m
in

87
0m

m
-m

ax
16

25
m

m

m
in

50
m

m
-m

ax
85

0m
m

Ø35mm

58.5mm 41mm

105mm



PARTS

FPMA-CF200SILVER

A. (x2)

D. (x1)

M. (x1)

J. (x1) K. (x4) L. (x1)

M-A. M5x14
(x2)

M-B. M6x14
(x2)

M-C. M6x30
(x2)

M-D. M8x30
(x2)

M-E. M8x50
(x2)

M-F. (x2) M-G. (x4) M-H. (x4)

W-A. (x6) W-B. (x6) W-C. (x6)

E. (x1) F. (x1) G. (x1) H. (x1) I. (x3)

B. (x1) C. (x1)

200x200 -
600x400 mm

0-30 kg |
0-66,1 lbs

210-270 cm

Install the lower pole without screws
Installeer het onderste deel van de stang zonder 
schroeven
Montieren Sie den unteren Mast ohne Schrauben
Installation du tube inférieur en le vissant sur la bague 
du sol non vissée au sol (laisser un jeu de 4mm)
Installare il palo inferiore senza viti
Instale el poste inferior sin tornillos
Instale o poste inferior sem parafusos
Zainstaluj dolny rurę bez użycia śrub

EN
NL

DE
FR

IT
ES
PT
PL

Tool Drill

STEP 1 A

4m
m

 

B

A



Install the lower pole with screws
Installeer het onderste deel van de stang met schroeven
Montieren Sie den unteren Mast mit Schrauben
Installation du tube inférieur en le vissant sur la bague 
du sol à visser au sol 
Installare il palo inferiore usando le viti
Instale el poste inferior usando tornillos
Instale o poste inferior usando parafusos
Zamontuj dolną rurę za pomocą śrub

EN
NL
DE
FR

IT
ES
PT
PL

Assemble the shelf
Monteer het plateau
Montage der Platte
Assemblage de l'étagère
Monti il ripiano
Instale el estante
Instale a prateleira
Zainstaluj półkę

EN
NL
DE
FR
IT
ES
PT
PL

STEP 2

W-C

STEP 1 B

A

4m
m

 

W-A

W-B

B

H

F



Attach the VESA plate to the monitor
Bevestig de VESA plaat op de monitor
VESA Platte am Monitor anbringen
Fixation de la plaque VESA sur le moniteur
Collegamento del piatto VESA al monitor
Colocación de la Placa VESA en el monitor
Colocar a placa VESA no monitor
Montaż płytki VESA do monitora

EN
NL
DE
FR
IT
ES
PT
PL

Use spacers if necessary
Gebruik afstandhouders indien nodig
Montage der Distanzscheiben falls nötig
Utilisez les entretoises si nécessaire (selon la forme de 
votre écran)
Utilizzare distanziatori, se necessario
Utilice separadores si es necesario
Utilize separadores se necessário
Użyj dystansów jeśli jest taka potrzeba

EN
NL
DE
FR

IT
ES
PT
PL

STEP 4

OPTION

Install the intermediate piece
Installeer het tussenstuk
Installieren des Zwischenstückes
Installez l'entretoise
Installare il pezzo intermedio
Instalar la pieza intermedia
Instalar a peça intermedia
Zainstaluj element pośredni

EN
NL
DE
FR
IT
ES
PT
PL

STEP 3

D

E

E

L

M-A M-B

M-F M-F

L

M-C M-D M-C M-D M-C M-D

M-F

M-F M-F M-F

M-E M-E M-E

M-H

M-F M-F

M-G M-G

M-G M-G

M-H

M-H M-H

M-H



Attach the screen onto the bracket and secure it
Bevestig het scherm aan de steun en zet vast
Montage und Sicherung des Bildschirmes an die 
Halterung
Accrochez l'écran sur le tube et fixez-le
Appendere lo schermo sulla staffa e fissarlo
Cuelgue la pantalla en el soporte y asegúrela
Pendure a tela no suporte e prenda-a
Zawieś ekran na wsporniku i zabezpiecz go

EN
NL
DE

FR
IT
ES
PT
PL

Mount the upper side of the rod
Monteer de bovenzijde van de stang
Die obere Seite der Stange montieren
Montez la deuxième bague sur le haut du tube 
ssupéérieur
Monti il lato superiore dell'asta
Monte la parte superior de la barra
Monte o lado superior da haste
Zamontuj górną stronę rurki

EN
NL
DE
FR

IT
ES
PT
PL

STEP 5

STEP 6

2m
m

 

C

A

G



Connect the upper pole with the lower pole
Verbind het bovenste deel met het onderste deel van de 
stang
Verbinden Sie den oberen Mast mit dem unteren Mast
Enfilez le tube supérieur au pôle inférieur
Colleghi il palo superiore con il palo inferiore
Conecte el poste superior con el polo inferior
Ligue o poste superior com o polo inferior
Połącz górny słupek z dolnym 

EN
NL

DE
FR
IT
ES
PT
PL

Install the upper pole using screws
Installeer het bovenste deel van de stang met schroeven
Montieren Sie den oberen Mast mit Schrauben
Possibilité de visser la bague supérieure au plafond à 
l'aide de vis
Installare il palo superiore con le viti
Instale el poste superior usando tornillos
Instale o poste superior usando parafusos
Zamontuj górny słupek za pomocą śrub

EN
NL
DE
FR

IT
ES
PT
PL

STEP 7

OPTION

A

BACK

SIDE

m
in2200m

m
-m

ax2700m
m

1

2

M

Optional step for more stability

W-B

W-C

W-A



Adjust the mount to your desired position
Stel de steun in op de gewenste positie
Einstellen die Halterung in die gewünschte Position
Ajustez la colonne à la position souhaitée
Regolare il supporto nella posizione desiderata
Establecer el soporte en la posición deseada
Ajuste o suporte na posição desejada
Dostosuj pozycję uchwytu do twoich wymagań

EN
NL
DE
FR
IT
ES
PT
PL

Route the cables
Werk de kabels weg
Kabel verlegen
Positionnez vos câbles dans les 
chemins prévus à cet effet
Routing dei cavi
Colocacion de los cables
Colocação dos Cabos
Organizacja kabli 

EN
NL
DE
FR

IT
ES
PT
PL

STEP 8

STEP 9

* Not Included

ADJUSTING IN USE

3

2

1

K
J

I




